RN T RN BUBTHE R & T35 7 b Mo ONRER RS 1 OME 5K B A

e TR T R BUEHERFE TR & OFRE I QN B b
ISR GERS. BRE. )1 #00))
T = @& gt 4 SRR HE X

1 TR PEMs (AL M OSSR (Bl

zﬁzé’é%ﬁ T |tsten FgRIEE20F m2 3,522 3,250
SR [ T S et m2 2,797 2,794
T/?;&;%E A |iem RY T ERIVE | g 3,274 3,270
DAL T |tmven w108 m2 1,424 1,420
%fﬁgﬁ*ﬁ%l(mﬁé\ 1t PRI 1SF { 243, 180 242, 100
éﬁfﬁ%ﬂ%ﬁﬁ%]:(ﬁﬂ%&é? %iéiféé::z<tﬂ%ﬁﬁ R t 172, 638 172, 600
KRB OME (2 k5 Rl meh] 108, 504 108, 500
%fﬁg‘ﬁ*ﬁ%ﬂﬁﬁé\ 1 U EEAH t 412, 380 412, 300
é?fﬁ%ﬁ*ﬁﬁ%li(ﬁ?%ié? £iitﬂ%ﬁﬁ HAREH Okl ¢ 466, 380 466, 300
GREL T ROF Bt L m2 126 125
PREL T ROAP#ESH Y m2 147 146
SREL - ZEEL - JEPR T OGRS L m?2 295 224
s - SRl WL o 0 m2 246 245
B T m2 1 o
(RUTE EADRR - PR | gy m 1, 602 1, 600
(UL el Bt S [P m 2, 898 2, 894




RRTE LBRE - TEHR T m3 13, 195 13, 184
EEFEMRERE (%) T B 5, 209 5, 204
1B KA T [ 27, 540 27, 500
AL E BT (A2 18 % 5 E i BLA) A - H 28, 620 28, 600
AL BT (%2 1875 & i EB) A+ H 24, 480 24, 462
HE T T L BZERY YU 7 b2 73 mmdk | R 18, 630 18, 615
S TV fi L (KRR - N J7) BYBER D 720 km 33, 750 33, 726
W T L (BJET - A1) ByEEsE| ko 168, 714 168, 700
%@J%{ "/ BREZ 0 s cpR) ] 30, 200 30, 000
%@% B BREZ 1y a0 e FiF ] 32, 400 32, 200
%fﬁ_% | RSy a0 gkp) i 32, 000 31, 800
%@J%ﬁ | BREY 1y a0 (k) i 34, 200 34, 000
Ili/lgé%' S BREZ |, a0 cep) FRFf] 30, 200 30, 000
IIEI/%% Bt BWEZ |, 40 (1) P i 32, 400 32, 200
IIEI/%@% Ff RS, a0 okp) 3 32, 000 31, 800
I'EE%' SR BT e (k) B 34, 200 34, 000
%fﬁ_b% "/ B |0 oz ] 27, 700 27, 500
%{éﬂ%ﬁ "/ WS () S 29, 900 29,700
%@% "/ BRSO k) ] 29, 500 29, 300
%@% "/ RS k) ] 31, 700 31, 600
IIEI/%@% B WE7 |, GER) P i 27, 700 27, 500
IIE/I%%' St BRET  cra) FF ] 29, 900 29, 700
T B BRSSO |, okl ] 29, 500 29, 300

L—&




[EIPESy

D
Ly

N,

L Am (IR4R) PR H] 31, 700 31, 600
%@% RE 7 éf%@ui TR it 28, 500 98, 400
%@% RE 2T%Dui . i 30, 700 30, 500
%@% wEZ %fﬁbui Gk ) 30, 300 30, 200
%@% RE7 ET%DHL ) R 32, 600 32, 500
%%% *E %Tﬁwui o) i 27, 400 27, 200
%%% REZ éyﬁbui ) B 29, 700 29, 500
%%% RE7 zfﬁbui GKE) i 29, 300 29, 200
%%% RE ET%DHL . B 31, 500 31, 400
%@% o 8t (FH) I ] 32, 700 32, 500
%@% R 8t (F®&) ] 34, 900 34, 800
%@% RE 8t (KH) R ] 34, 500 34, 400
%@% RE 8t (A1) ] 36, 700 36, 500
%%% R 8t (FH) R[] 28, 200 28, 000
%%% RE 8t (F&) PR ] 30, 400 30, 300
%%% RE 8t (IKH) ] 30, 000 29, 900
%%% RE 8t (IKR®K) ] 32, 200 32, 100
?%ﬁ%%? RES 3.7m ((FH) R ] 32, 200 32, 000
?%?%Ei REZ s CEA&) PR ] 34, 400 34, 200
%%?%%i REZ N3 (RH) ] 34, 000 33, 800
?%ﬁ%%? RET 3. Tm (IR7K) ] 36, 200 36, 000
E}E%%i REZ s CEH) ] 30, 800 30, 600
E}%%%i REZ s (F&) ] 33, 000 32, 800
a3y RET 3 (RH) FRE: 32, 600 32, 500

=X




[]
[
i
m
=
%
I

;y 3. Tm (PRA) e 34, 900 34, 700
%@% "/ BRE 5 R FRFfE] 25, 000 24, 800
%@%’ "/ BRE 5 (g ] 27, 200 27, 000
%@J%’ |OBRE g km) i 26, 800 26, 600
%@% B BT s ohr) S 28,900 28, 700
'%'%%’ S RS 8t (EH) R ] 23, 600 23, 400
%%%i SABRE g e ] 25, 800 25, 600
'%'%% b bR 8t (IKH) R 25, 400 25, 200
l%ﬁf% "/ BRSO g0 ko i 27, 500 27, 300
f@% ’ "/ BE oo (2 R) e i 29, 100 29, 000
*f@% y BT PR oookw (Em) S 31,300 31, 100
f‘;’ fﬁ_b% ’ " BT o0k (kA) ] 30, 500 30, 300
%@J% ’ S BT ook (ki) i 32, 700 32, 500
lgl:é% , " BRE oo ER) 5 29, 100 29, 000
IEI%% ) B BE oo () R 31, 300 31, 100
Ighé% ’ T/ BRE oo (tkR) e i 30, 500 30, 300
E‘_ﬂf% UEH BE lozoke (tk) i 32, 700 32, 500
f‘;’fﬁ_b% ’ {B%;%E/J@ 60kw (F-F) R 15, 200 15, 000
%@J% ’ %E';Lg i’wﬂ 60kw (FA2) i 16, 500 16, 400
%@% , fé% E/J@ 60kw (1A H) R 16, 000 15, 900
f;’ fﬁﬁ% ) %j% E/J‘f:@ 60kw ({A7) 5 17, 300 17, 200
IEI%% ’ %E;Lg i/J\*:F'é 60kw (- H) i) 15, 200 15, 000
E‘%% ) %iig E/J@H 60kw (T-4%) R 16, 500 16, 400
lgli_‘if% ’ %‘% E_E/J@ 60kw (1K H) S 16, 000 15, 900




mEE HA

N

b ) R 60kw (A1) R[] 17, 300 17, 200
2 ) —R— VR E L A 8, 700 8, 700
BEE S #omE (2.5m3 4x4 (CEH) [R5 i 22, 800 22, 700
B B BUAE |2.5m3 4% (CEK) PR 1] 25, 000 24, 900
BB BT HCEE |2.5m3 4%4 (fKH) R 25, 000 24, 900
BEE B #dmE (2.5m3 4x4 (IR7R) R i 27,100 27, 000
gy BfE B [2.6m3 4x4 ((FH) R 22, 800 22, 700
mlEE B B E |2.5m3 44 (FAK) ] 25, 000 24, 900
Bk S B E |2.5m3 4%4 (RH) PR 25, 000 24,900
mEE BT BnE |2.5m3 4%4 (IR4%) PR i 27,100 27,000
I.%;’% mﬁi;%ﬁﬁ”ﬁﬂﬁ t 89, 800 89, 800
B KA L (10kmPAF)  CFH) [a] 8, 500 8, 300
T KA T (10k mELF)  (F4%) [A] 9, 300 9, 200
ESLE{EIND (10kmPAF)  (4kH) [a] 9, 100 9, 000
THE KA L (10kmPLF)  (IR4&) [a] 9,900 9, 800
EE KA T B30k mPLF)  (FH) [&] 22, 100 22, 000
B KA T B0k mUTF)  (CF&) [a] 24,200 24,100
B KA T (B0kmEAF) (KkH) [a] 23, 600 23, 500
FE KA T (B0kmUTF)  (KK) [A] 25, 800 25, 600
5 KA T 456k mPLF)  (FH) [a] 22, 100 22, 000
B KA L 45k mPLF)  (CFAR) [a] 24,200 24, 100
THE KA T (45k mELF)  (fkH) [&] 23, 600 23, 500
B KA T 45k mPAF)  (IREK) [a] 25, 800 25, 600
PR B A A A 15 2 [a] 54, 900 54, 800




R 5 RE bR s B B A

mi | 13, 400 13, 300
53R B Rl fE [A] 12, 100 12, 000
ASEHFEANFEIA t 3, 800 3, 700
s aya A S

i%%ﬁ "t L7 4. 3m =) 112, 000 111, 900
it NS

i%% Bt W=7y, A 85, 600 85, 500
s > I

i%%ﬁ Fria  BRE 7 3. 1m 5 926, 000 926, 000
it > NS

ifﬁ%ﬁ Fria  BRE7 3. Tm = 1, 190, 000 1, 190, 000
it O

HHLTY FRA RS 8t B 665, 000 665, 000
F—

s aya INEE

E\ﬁ% " BRE 8t 5 30, 200 30, 100
fF—

Y B BRE

S} = H

S = 220kw =) 118, 000 117, 900
pras SV x|

i%% ) %}%E’J 60kw f 48, 900 48, 800
EEE BT BURHE |2.5m3 4%4 = 73,700 73, 500

2 THEfgOREHIbR (RAL) 13, e & R T,
SRR (Bl (3, SR0% (BAl) & RZET




